Right Triangle Trig: Additional Problems = Name M

Find the value for the Trigonometric Ratios. Simplify (do not calculate!!) fractions where necessary.

' A sinA= 4_/5 sinB=I3/5
15 Ny i
q o cos A= 3’/5 cosB= 47/5
1 tanA= 4/3 tanB = 3/4
C 12 5 %'
2 2.15% b*=
8 VAR e
2. 36 Q
L Find the measures of angles J .aEn; G. 6
8 I5 < tan (e
Q-8 D mio-ta () = tun(%0)
- \H+385= 162]
%* Vs = # G mZ) = @leao mAG=(p7.3ﬁ

Solve for the missing side lengths (to the nearest hundredth) and angle measures (to the nearest tenth of a degree).
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5. Find the length of side a.
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6. From the top of the 100-foot tall Altgelt Hall a man observes a car moving toward the building. If the angle of
depression to the car changes from 22° to 46° during the observation, how far does the car travel?
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7. You are a block away from a skyscraper that is 780 feet tall. Your friend is between the skyscraper and yourself.
The angle of elevation from your position to the top of the skyscraper is 42°. The angle of elevation from your
friend’s position to the top of the skyscraper is 71°. To the nearest foot, how far are you from your friend?
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8. Jay and Sam are staring at the top of the hill. Jay and Sam are 75 feet apart. The angle of elevation to the top of
the hill for Jay is 22° while the angle of elevation to the top of the hill for Sam is 57°. Find the height of the hill.
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9. Bobis driving along a straight and level road straight toward a mountain. At some point on his trip he
measures the angle of elevation to the top of the mountain and finds it to be 23.63°. He then drives 1 mile ( 1
mile = 5280 ft.) more and measures the angle of elevation to be 30.8° . Find the height of the mountain to the
nearest foot. (Hint draw a picture liffie the one above)
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10. A person is watching a boat from the top of a lighthouse. The boat is approaching the lighthouse directly.
When first noticed the angle of depression of the boat is 13.35°. When the boat stops, the angle of depression
is 51.72°. The lighthouse is 200 feet tall. How far did the boat travel from when it was first noticed until it
stopped? Round your answer to the nearest hundreth?
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11. A police helicopter is monitoring the speed of two cars on a straight road. The helicopter is at an altitude of
4200 feet directly above the road. At one instant, the angle if elevation from the first car to the helicopter is
20°, and the angle of elevation from the second car to the helicopter is 16°. How far apart are the two cars to
the nearest foot?
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